PART - A
1. Derive the relationship between density and specific waight.
2. What is atmospheric pressure? Give its constant velue,
3. How do you clossify o flow as lasinar?
4. When the power transmitied through the pipes will be maximum?
5. Why priming of o centrifugal pum~p is dane?
6. What is specific energy?
. How veld of wells can be estimaled?
8. Inwhat way ¢ V-notch is superiar?
RART - B
3. Explair the working of simple U-tube manametar,
10, Whnat /s venda-contracts? What makes it significant?
11. How will you estimate the head loss of flawing fluid due to friction?
1. Wnat are the effects of end contractions in o weir?  Whan will wou
account for ii?
13. ‘Wwhaot is velodity of anpraach? How will it affec tre cischarge over
the wair?
L4 Derive the re.ationship betwean Chezy's constant 'O and Muannings
constant ‘N’
15 Under what corndtions o drowlar chanpel section will provide
maximur discharga?
16. What is the sUp of o reciprocating pusmp?  Wher it will became
negative?
[Turn over
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PART = C

The pressure at 0 point in ¢ pipe Une corrying a fuid of specific
gravity .89 0s megsured by a U-iube monometer cohinining
mercury. The cenire of the pipe is 120mm below the level of
mercury in the open right Limb. The difference in mercury level
between The limbs is 200mm. Whai will be the pressure of fluid
i the pipeline?  Express this pressure in apsclute head of
rErcury.
fOF]

& circular plate 3 metres diameter is submerged in waoter such
that ‘ts greates: and lecsr deptns below the free surface of
witer cre o metre and 1 metre respeciively. Fined {i1The total

A horizontol venturimeter with iniet diameter 200 ard throat
diameter 10cm /s used to measure the flow of oil of specific
gravity 0.8. The dischcrge of cil through vesturimeter is 60
itresfs.  Find the reading of the ol — mercury differential
manometer. Take & = 098,

(Cr)

The rate of flow of water threugh a horizental pipe is 0.25
a5, The diameter of the pipe which iz 200mm is suddenly
enlarged Lo 400mm, The aressure intersity in the smaller pips
is 11.772 = 10° N/m®. Determine {ijLoss of heod due to sudden
antargement (ilIPressure intensity in the larger pipe.

Cerive the discharge squatian for g V-notch,
':l'::r.ll

Water flows over a rectongulor weir 1m wide at o depth of
150mm and afterwcrds passes tnrough a triangular right
ang.ad weir. Takirg C. for the rectongular ang iriangular weir
as 0,62 and 0.5% respectively, find the depth aver the
triangular weir.

20. (a)
{b)
21. (gl
(b]
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Find the bed slope of trapezcidal channel of ned width &m,
depth of water 3m and side slape of 3 horizontal to & vertical,
when the dischdrge through the chonnel is 30 m*/s.  Toke
Chezy's constant C=70.

(Cr)

A rectangular channel carries water ot tnhe rate of 500 Litres/s,
when bed slops is 1 in 200C. Find the most economical
dimensicns of the channel, if C=50.

The eylinder diameter of a single acling reciprocating sump is
150mm and its stroke is 300mm. The ourmp runs at 59 rom and
Lifts water through a height of 25m. The delivery pipe is 2Zm
lang and 100mm in digmeter. Fiad the theaoretical discharge
and the thecretical power required to run the pump, IF the
actual discnarge is 4.2 Llitresfs, fing the percertoge slip and
efficiency of the pump.

fOr;

Explain the construction detail and working of a centrifugal
pump with a neat sketch,



